ALGEBRAIC FRACTIONS

Show all working. Fully factorise before cancelling factors.

1. Simplify:
6x*+9 4n -12 4dp +8 16mn —12n?
(@) 7% (b) = () —P*°4 d) M=o
2 2 2
4x+6 n’-3n P +2pq 8m?* — 6bmn
3c-c? w 6y 4p*

©) () (2 (h) ———

c? w? 2w 8 xy—y* 2ab - 8b°
2wt —w? £ +21 3a-ab 3mn

(i) ——— ) k) ——— () ————

6t - 3w 0 t? 3ab - ab’ m*n — mn*
. Simplify:
t*-9 3y-12 1-x? 9-a’

(a) b = (© —= ) —=

4t +12 y*-16 x+1 4a+12
w+5 2c +c? 1-4p 4-9n°
h

(e) o3 () s (2) 3-6p (h) T 6n
2 0,2 Ax? —Qy? 3 4002 3 2

(i) m —9n" () = 9y ) L1 ) m_+2m

3m-9n 2x + 3y uw -4 m’ —4m
. Simplify:
@ x*+5x+6 ®) 4+ Tt+12 © 3y*+ 12y @ 4n*-8n
3x+9 21+ 8t y +5y+4 n*-6n+8
-9 ’-16 m* +4m-12 -4
©) 2y— (f) 2p— (&) ——— (h) ———
y =8y +15 p +3p-4 m- -4 1*+2t-8
. wi+5w =24 o x*-11x+24 rt =2r-24 n’—4n +4
Q) —5——— ) ———— k) ——— ) ———
w —6w+9 x=7x-8 r’+r-12 n°+3n-10
. Simplify:
2¢2 +5¢c+3 3a*+8a+5 4p*-6 2n?

() £ 12°F° (b)y 24 o4+ ) —P 2P d — "
6¢ +9 3a’ +5a 4p>-12p+9 2n* +7n+3
> -4 4k* -9 9x?-4 3r’+8r-3

o) — & =7 _or -t py 2 *°r-°

(©) 2t*-T7t+6 © 2k*-13k +15 © 3x*+4x-4 ® 9r2-1

_ Poy-20 . 4d*-5d+1 2m* +m-3 Ow? —18w+5

(1) yz; ) —/——— k) ————— ) ———

2y +7y-4 d“+4d-5 6m-+ 7Tm-3 Ow”-12w -5
. Simplify:

@ x>+ Txy + 6y° ) m*—-n’ © u +2uv -8y’ @ 3r®=2rt = 5¢°
2x+12y m* =5mn +4n u —4v? Or*—25¢*
*+3pg+2q° 4u® + Suv +v* 2a* +9ab -5b* 6a’ +5ab - 6b°

O b W P : @ = = ) = :

p +4pg+4q u +2uv+v a +4ab-5b 2a”-5ab-12b
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